# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager: STEVE SONNTAG	Page 1 of 8
Project: UTILITY REPLACEMENT WITH RESI	URFACING 2015 ASSESSMENT DISTRICT
Contract Number: 7437	Payment Number: 5
DO NOT WRITE IN THIS BOX - TO B	BE COMPLETED BY CITY ENGINEERING PERSONNEL ONLY
TOTAL FROM PAGE:8	1,659,331.93
LESS RETAINAGE:	55,944.54
SUBTOTAL:	1,603,387.39
LESS PREVIOUS PAYMENTS:	1,312,132.46
CURRENT PAYMENT DUE:	\$ 291,254.93
INSPECTOR'S CERTIFICATE FOR PAYMENT: The undersigned Inspector certifies by this application for payment has and that the contractor is entitled to INSPECTOR  PLEASE PROVIDE THE TIME PERIOD FOR THIS P.  PLEASE PROVIDE THE CONTRACTOR/SUBCONTI	8-5-15 DATE
NOTE: SIGNED PAYMENT REQUEST SHALL	BE SUBMITTED TO THE ENGINEER/INSPECTOR.
DADTIAL DAVIAGNITS CAN BE DOOG	

	ACT NO. 7437 NT NO. 5						I		I		*****		I
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	Γ ACCOUNT NO. 10253-402-170												
10701	TRAFFIC CONTROL	3.00	LUMP SUM	\$4,500.00	\$13,500.00		0.00	\$0.00	3.00	\$13,500.00	3.00	\$13,500.00	100.0%
10801	ROOT CUTTING - CURB AND GUTTER (UNDISTRIBUTED)	75.00	L.F.	\$5.00	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10802	ROOT CUTTING - SIDEWALK (UNDISTRIBUTED)	75.00	L.F.	\$5.00	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
10911	MOBILIZATION	3.00	LUMP SUM	\$23,000.00	\$69,000.00		0.00	\$0.00	3.00	\$69,000.00	3.00	\$69,000.00	100.0%
20101	EXCAVATION CUT	2,210.00	C.Y.	\$10.00	\$22,100.00		0.00	\$0.00	883.00	\$8,830.00	883.00	\$8,830.00	40.0%
20219	BREAKER RUN	4,820.00	TON	\$5.00	\$24,100.00		0.00	\$0.00	76.44	\$382.20	76.44	\$382.20	1.6%
20221	TOPSOIL	625.00	S.Y.	\$2.55	\$1,593.75		520.00	\$1,326.00	0.00	\$0.00	520.00	\$1,326.00	83.2%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	700.00	S.F.	\$5.00	\$3,500.00		0.00	\$0.00	92.40	\$462.00	92.40	\$462.00	13.2%
20401	CLEARING	180.00	I.D.	\$24.00	\$4,320.00		8.70	\$208.80	8.35	\$200.40	17.05	\$409.20	9.5%
20403	GRUBBING	180.00	I.D.	\$24.00	\$4,320.00		8.70	\$208.80	8.35	\$200.40	17.05	\$409.20	9.5%
20701	TERRACE SEEDING	625.00	S.Y.	\$2.15	\$1,343.75		520.00	\$1,118.00	0.00	\$0.00	520.00	\$1,118.00	83.2%
21063	EROSION MATTING, CLASS I, URBAN TYPE A-ORGANIC	625.00	S.Y.	\$1.45	\$906.25		520.00	\$754.00	0.00	\$0.00	520.00	\$754.00	83.2%
30209	SPECIAL WATERWAY	470.00	S.F.	\$8.50	\$3,995.00		0.00	\$0.00	398.50	\$3,387.25	398.50	\$3,387.25	84.8%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	860.00	S.F.	\$5.50	\$4,730.00		480.80	\$2,644.40	62.70	\$344.85	543.50	\$2,989.25	63.2%
30340	CURB RAMP DETECTABLE WARNING FIELD	320.00	S.F.	\$30.00	\$9,600.00		0.00	\$0.00	192.00	\$5,760.00	192.00	\$5,760.00	60.0%
40201	HMA PAVEMENT, TYPE E-0.3	2,590.00	TON	\$58.05	\$150,349.50		60.00	\$3,483.00	2,449.00	\$142,164.45	2,509.00	\$145,647.45	96.9%
40202	HMA PAVEMENT, TYPE E-1	5,530.00	TON	\$57.65	\$318,804.50		0.00	\$0.00	2,793.00	\$161,016.45	2,793.00	\$161,016.45	50.5%
40211	TACK COAT	985.00	GAL	\$2.00	\$1,970.00		0.00	\$0.00	400.00	\$800.00	400.00	\$800.00	40.6%
40231	ASPHALT DRIVE & TERRACE	20.00	S.Y.	\$45.00	\$900.00		1.30	\$58.50	17.30	\$778.50	18.60	\$837.00	93.0%
40311	PULVERIZE AND SHAPE	33,450.00	SY	\$3.20	\$107,040.00		0.00	\$0.00	24,000.00	\$76,800.00	24,000.00	\$76,800.00	71.7%
40382	REMOVE AND REPLACE CURB AND GUTTER, HAND PLACED - RESURFACING	3,665.00	L.F.	\$34.00	\$124,610.00		0.00	\$0.00	2,800.00	\$95,200.00	2,800.00	\$95,200.00	76.4%
40391	REMOVE AND REPLACE 5" THICK CONCRETE SIDEWALK - RESURFACING	4,525.00	S.F.	\$7.00	\$31,675.00		0.00	\$0.00	4,138.00	\$28,966.00	4,138.00	\$28,966.00	91.4%

\*\*\*\*\*\*

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40392	REMOVE & REPLACE 7" THICK SIDEWALK AND DRIVEWAY - RESURFACING	2,440.00	S.F.	\$7.50	\$18,300.00		0.00	\$0.00	2,300.00	\$17,250.00	2,300.00	\$17,250.00	94.3%
60801	PAVEMENT MARKING EPOXY, DOUBLE LINE, 4-INCH	450.00	LF	\$1.40	\$630.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60802	PAVEMENT MARKING EPOXY, LINE, 4-INCH	2,800.00	LF	\$0.50	\$1,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	820.00	LF	\$5.00	\$4,100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	40.00	LF	\$8.00	\$320.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60822	PAVEMENT MARKING EPOXY, SYMBOL, BIKE SHARROW	13.00	EACH	\$135.00	\$1,755.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	3.00	EACH	\$100.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	MODULAR BLOCK RETAINING WALL	130.00	S.F.	\$28.20	\$3,666.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$929,578.75			\$9,801.50		\$625,042.50		\$634,844.00	68.3%
STREET	ACCOUNT NO. 10253-402-174	=											
21002	EROSION CONTROL INSPECTION	11.00	EACH	\$300.00	\$3,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21013	STREET SWEEPING	3.00	EACH	\$2,000.00	\$6,000.00		0.00	\$0.00	2.00	\$4,000.00	2.00	\$4,000.00	66.7%
21032	INLET PROTECTION TYPE C - PROVIDE & INSTALL	44.00	EACH	\$40.00	\$1,760.00		27.00	\$1,080.00	13.00	\$520.00	40.00	\$1,600.00	90.9%
21033	INLET PROTECTION TYPE C - MAINTAIN	88.00	EACH	\$12.00	\$1,056.00		0.00	\$0.00	5.00	\$60.00	5.00	\$60.00	5.7%
21034	INLET PROTECTION TYPE C - REMOVE	44.00	EACH	\$15.00	\$660.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	52.00	EACH	\$80.00	\$4,160.00		(9.00)	(\$720.00)	71.00	\$5,680.00	62.00	\$4,960.00	119.2%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	104.00	EACH	\$25.00	\$2,600.00		0.00	\$0.00	8.00	\$200.00	8.00	\$200.00	7.7%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	52.00	EACH	\$12.00	\$624.00		62.00	\$744.00	0.00	\$0.00	62.00	\$744.00	119.2%
40362	ADJUST ACCESS STRUCTURE CASTING- RESURFACING	7.00	EACH	\$400.00	\$2,800.00		4.00	\$1,600.00	6.00	\$2,400.00	10.00	\$4,000.00	142.9%
40363	ADJUST CATCHBASIN CASTING - RESURFACING	1.00	EACH	\$450.00	\$450.00		0.00	\$0.00	1.00	\$450.00	1.00	\$450.00	100.0%
40364	ADJUST INLET CASTING, TYPE "H" - RESURFACING	9.00	EACH	\$350.00	\$3,150.00		0.00	\$0.00	4.00	\$1,400.00	4.00	\$1,400.00	44.4%
40366	REBUILD INLET - RESURFACING	18.00	EACH	\$1,200.00	\$21,600.00		0.00	\$0.00	19.00	\$22,800.00	19.00	\$22,800.00	105.6%

#10

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

		1	2	3	4	5	6		8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
40367	ADJUST VALVE CASTING METHOD #1	22.00	EACH	\$300.00	\$6,600.00		0.00	\$0.00	14.00	\$4,200.00	14.00	\$4,200.00	63.6%
40371	REBUILD ACCESS STRUCTURE TOP - RESURFACING	5.00	EACH	\$1,350.00	\$6,750.00		0.00	\$0.00	1.00	\$1,350.00	1.00	\$1,350.00	20.0%
50741	TYPE H INLET	15.00	EACH	\$1,800.00	\$27,000.00		0.00	\$0.00	12.00	\$21,600.00	12.00	\$21,600.00	80.0%
50761	SADDLED INLET TYPE 1	1.00	EACH	\$2,000.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$90,510.00	'	•	\$2,704.00		\$64,660.00	•	\$67,364.00	74.4%
STORM	ACCOUNT NO. 10253-84-174												
10702	TRAFFIC CONTROL FOR STORM SEWER INSTALLATION	3.00	LUMP SUM	\$1,400.00	\$4,200.00		0.00	\$0.00	3.00	\$4,200.00	3.00	\$4,200.00	100.0%
10912	MOBILIZATION FOR STORM SEWER INSTALLATION	3.00	LUMP SUM	\$3,000.00	\$9,000.00		0.00	\$0.00	3.00	\$9,000.00	3.00	\$9,000.00	100.0%
20311	REMOVE SEWER ACCESS STRUCTURE	5.00	EACH	\$800.00	\$4,000.00		2.00	\$1,600.00	1.00	\$800.00	3.00	\$2,400.00	60.0%
20312	REMOVE CATCHBASIN	2.00	EACH	\$2,000.00	\$4,000.00		0.00	\$0.00	1.00	\$2,000.00	1.00	\$2,000.00	50.0%
20313	REMOVE INLET	11.00	EACH	\$500.00	\$5,500.00		0.00	\$0.00	6.00	\$3,000.00	6.00	\$3,000.00	54.5%
20336	PIPE PLUG	1.00	EACH	\$1,000.00	\$1,000.00		0.00	\$0.00	3.00	\$3,000.00	3.00	\$3,000.00	300.0%
50201	ROCK EXCAVATION	150.00	C.Y.	\$0.10	\$15.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50211	SELECT BACKFILL FOR STORM SEWER	2,620.00	T.F.	\$0.10	\$262.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50225	UTILITY TRENCH PATCH TYPE III	456.00	T.F.	\$23.00	\$10,488.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50227	UTILITY TRENCH PATCH TYPE IV	1,911.00	T.F.	\$6.00	\$11,466.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50390	SEWER ELECTRONIC MARKERS	1.00	EACH	\$70.00	\$70.00		0.00	\$0.00	1.00	\$70.00	1.00	\$70.00	100.0%
50404	12 INCH STORM SEWER PIPE	20.00	L.F.	\$65.00	\$1,300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50411	12 INCH RCP STORM SEWER PIPE	888.00	L.F.	\$54.00	\$47,952.00		15.00	\$810.00	250.00	\$13,500.00	265.00	\$14,310.00	29.8%
50412	15 INCH RCP STORM SEWER PIPE	359.00	L.F.	\$57.00	\$20,463.00		0.00	\$0.00	323.00	\$18,411.00	323.00	\$18,411.00	90.0%
50413	18 INCH RCP STORM SEWER PIPE	728.00	L.F.	\$58.00	\$42,224.00		0.00	\$0.00	740.50	\$42,949.00	740.50	\$42,949.00	101.7%
50414	21 INCH RCP STORM SEWER PIPE	189.00	L.F.	\$64.00	\$12,096.00		0.00	\$0.00	56.00	\$3,584.00	56.00	\$3,584.00	29.6%

	ACT NO. 7437 NT NO. 5								ĺ		******		1
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50415	24 INCH RCP STORM SEWER PIPE	51.00	L.F.	\$77.00	\$3,927.00		0.00	\$0.00	45.00	\$3,465.00	45.00	\$3,465.00	88.2%
50416	27 INCH RCP STORM SEWER PIPE	42.00	L.F.	\$72.00	\$3,024.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50437	43 INCH X 68 INCH HERCP STORM SEWER PIPE	343.00	L.F.	\$217.00	\$74,431.00		0.00	\$0.00	173.00	\$37,541.00	173.00	\$37,541.00	50.4%
50723	3'X3' STORM SAS	7.00	EACH	\$2,300.00	\$16,100.00		0.00	\$0.00	5.00	\$11,500.00	5.00	\$11,500.00	71.4%
50725	5'X5' STORM SAS	1.00	EACH	\$6,800.00	\$6,800.00		0.00	\$0.00	1.00	\$6,800.00	1.00	\$6,800.00	100.0%
50763	TERRACE INLET TYPE III	3.00	EACH	\$3,800.00	\$11,400.00		0.00	\$0.00	1.00	\$3,800.00	1.00	\$3,800.00	33.3%
50792	STORM SEWER TAP	7.00	EACH	\$700.00	\$4,900.00		0.00	\$0.00	1.00	\$700.00	1.00	\$700.00	14.3%
50801	UTILITY LINE OPENING	14.00	EACH	\$800.00	\$11,200.00		0.00	\$0.00	22.00	\$17,600.00	22.00	\$17,600.00	157.1%
90030	8'X4' STORM SAS	6.00	EACH	\$7,600.00	\$45,600.00		0.00	\$0.00	2.00	\$15,200.00	2.00	\$15,200.00	33.3%
90031	9'X4' STORM SAS	1.00	EACH	\$8,800.00	\$8,800.00		0.00	\$0.00	1.00	\$8,800.00	1.00	\$8,800.00	100.0%
90033	INLET CAPPING	1.00	EACH	\$700.00	\$700.00		0.00	\$0.00	1.00	\$700.00	1.00	\$700.00	100.0%
	SUBTOTALS				\$360,918.00			\$2,410.00	-	\$206,620.00	_	\$209,030.00	57.9%
STORM	WATER ACCOUNT NO. 10253-84-174-84500												
50722	6'X6' CATCHBASIN	2.00	EACH	\$7,600.00	\$15,200.00		0.00	\$0.00	2.00	\$15,200.00	2.00	\$15,200.00	100.0%
90032	8'X4 CATCHBASIN	2.00	EACH	\$8,050.00	\$16,100.00		0.00	\$0.00	2.00	\$16,100.00	2.00	\$16,100.00	100.0%
	SUBTOTALS			•	\$31,300.00			\$0.00	<u> </u>	\$31,300.00	- ·	\$31,300.00	100.0%

115.70

68.00

\$11.57

\$1,564.00

18.5%

9.4%

\$11.45

\$1,564.00

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.

INSTALLATION **ROCK EXCAVATION** 

UTILITY TRENCH PATCH TYPE III

50201

50225

625.00

725.00

C.Y.

T.F.

\$0.10

\$23.00

PAYME	NT NO. 5										******		
		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLET
SANITA	RY ACCOUNT NO. 10253-83-173												
10704	TRAFFIC CONTROL FOR SANITARY SEWER INSTALLATION	2.00	LUMP SUM	\$1,200.00	\$2,400.00		1.00	\$1,200.00	1.00	\$1,200.00	2.00	\$2,400.00	100.0
10914	MOBILIZATION FOR SANITARY SEWER INSTALLATION	2.00	LUMP SUM	\$1,000.00	\$2,000.00		1.00	\$1,000.00	1.00	\$1,000.00	2.00	\$2,000.00	100.0
20311	REMOVE SEWER ACCESS STRUCTURE	2.00	EACH	\$800.00	\$1,600.00		2.00	\$1,600.00	0.00	\$0.00	2.00	\$1,600.00	100.0
50201	ROCK EXCAVATION	115.00	C.Y.	\$0.10	\$11.50		96.10	\$9.61	43.50	\$4.35	139.60	\$13.96	121.4
50212	SELECT BACKFILL SANITARY SEWER	523.00	T.F.	\$0.10	\$52.30		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0
50225	UTILITY TRENCH PATCH TYPE III	428.00	T.F.	\$23.00	\$9,844.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0
50227	UTILITY TRENCH PATCH TYPE IV	20.00	T.F.	\$6.00	\$120.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0
50301	8" PVC SEWER PIPE (SDR 35)	501.00	L.F.	\$98.00	\$49,098.00		382.50	\$37,485.00	99.50	\$9,751.00	482.00	\$47,236.00	96.2
50353	SANITARY SEWER LATERAL (SDR 35)	30.00	L.F.	\$113.00	\$3,390.00		0.00	\$0.00	36.00	\$4,068.00	36.00	\$4,068.00	120.0
50357	COMPRESSION COUPLING	9.00	EACH	\$261.00	\$2,349.00		9.00	\$2,349.00	0.00	\$0.00	9.00	\$2,349.00	100.0
50361	WASTEWATER CONTROL	1.00	EACH	\$100.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0
50701	4' DIA SAS	4.00	EACH	\$3,300.00	\$13,200.00		4.00	\$13,200.00	0.00	\$0.00	4.00	\$13,200.00	100.0
50791	SANITARY SEWER TAP	3.00	EACH	\$1,000.00	\$3,000.00		2.00	\$2,000.00	0.00	\$0.00	2.00	\$2,000.00	66.7
50390	SEWER ELECTRONIC MARKERS	2.00	EACH	\$70.00	\$140.00		0.00	\$0.00	1.00	\$70.00	1.00	\$70.00	50.0
	SUBTOTALS				\$87,304.80			\$58,843.61	_	\$16,093.35	,	\$74,936.96	85.8
WATER	ACCOUNT NO. 10253-86-130												
10703	TRAFFIC CONTROL FOR WATER MAIN INSTALLATION	2.00	LUMP SUM	\$1,000.00	\$2,000.00		1.50	\$1,500.00	0.50	\$500.00	2.00	\$2,000.00	100.0
10913	MOBILIZATION FOR WATER MAIN INSTALLATION	2.00	LUMP SUM	\$30,000.00	\$60,000.00		1.50	\$45,000.00	0.50	\$15,000.00	2.00	\$60,000.00	100.0

1.20

0.00

\$0.12

\$0.00

114.50

68.00

\$62.50

\$16,675.00

	NT NO. 5	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50227	UTILITY TRENCH PATCH TYPE IV	6,200.00	T.F.	\$6.00	\$37,200.00		0.00	\$0.00	30.00	\$180.00	30.00	\$180.00	0.5%
70001	FURNISH AND INSTALL 4 INCH PIPE & FITTINGS	40.00	L.F.	\$131.00	\$5,240.00		3.00	\$393.00	0.00	\$0.00	3.00	\$393.00	7.5%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	490.00	L.F.	\$131.00	\$64,190.00		131.50	\$17,226.50	203.50	\$26,658.50	335.00	\$43,885.00	68.4%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	4,580.00	L.F.	\$83.60	\$382,888.00		1,469.50	\$122,850.20	3,052.00	\$255,147.20	4,521.50	\$377,997.40	98.7%
70030	FURNISH AND INSTALL 4-INCH WATER VALVE	1.00	EACH	\$1,780.00	\$1,780.00		1.00	\$1,780.00	0.00	\$0.00	1.00	\$1,780.00	100.0%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	15.00	EACH	\$1,930.00	\$28,950.00		7.00	\$13,510.00	8.00	\$15,440.00	15.00	\$28,950.00	100.0%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	13.00	EACH	\$2,150.00	\$27,950.00		4.00	\$8,600.00	8.00	\$17,200.00	12.00	\$25,800.00	92.3%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	9.00	EACH	\$4,190.00	\$37,710.00		1.00	\$4,190.00	8.00	\$33,520.00	9.00	\$37,710.00	100.0%
70053	REPLACE 1-INCH COPPER SERVICE LATERAL	30.00	L.F.	\$119.00	\$3,570.00		0.00	\$0.00	20.00	\$2,380.00	20.00	\$2,380.00	66.7%
70056	RECONNECT 1-INCH SERVICE LATERAL	21.00	EACH	\$1,300.00	\$27,300.00		0.00	\$0.00	20.00	\$26,000.00	20.00	\$26,000.00	95.2%
70058	RECONNECT 2-INCH SERVICE LATERAL	4.00	EACH	\$1,170.00	\$4,680.00		0.00	\$0.00	2.00	\$2,340.00	2.00	\$2,340.00	50.0%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	12.00	EACH	\$1,450.00	\$17,400.00		1.00	\$1,450.00	5.00	\$7,250.00	6.00	\$8,700.00	50.0%
70081	FURNISH EXCAVATION AND DITCH FOR LIVE TAP	4.00	EACH	\$900.00	\$3,600.00		1.00	\$900.00	3.00	\$2,700.00	4.00	\$3,600.00	100.0%
70082	CUT OFF EXISTING WATER MAIN	4.00	EACH	\$800.00	\$3,200.00		(1.00)	(\$800.00)	3.00	\$2,400.00	2.00	\$1,600.00	50.0%
70090	ABANDON WATER VALVE BOX	14.00	EACH	\$300.00	\$4,200.00		0.00	\$0.00	6.00	\$1,800.00	6.00	\$1,800.00	42.9%
70101	FURNISH AND INSTALL STYROFOAM	160.00	L.F.	\$14.00	\$2,240.00		64.00	\$896.00	64.00	\$896.00	128.00	\$1,792.00	80.0%
70105	PIPE PLUG FOR WATER MAIN INSTALLATION	1.00	EACH	\$400.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$731,235.50		· •	\$217,495.82	•	\$410,987.15	•	\$628,482.97	85.9%
CONTRA	ACT TOTALS				\$2,230,847.05			\$291,254.93		\$1,354,703.00	. ,	\$1,645,957.93	73.8%

	ACT NO. 7437 NT NO. 5	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
CHANG	E ORDER #1, ACCT NOS. (SEE BELOW):												
	10253-402-170												
	- BIKE DETOUR	1.00	LUMP SUM	\$2,730.00		\$2,730.00	0.00	\$0.00	1.00	\$2,730.00	1.00	\$2,730.00	100.0%
	10253-402-174												
	- SILT SOCK (12 INCH) COMPLETE	100.00	L.F.	\$12.00		\$1,200.00	0.00	\$0.00	50.00	\$600.00	50.00	\$600.00	50.0%
	- EROSION CONTROL PLAN & IMPLEMENTATION	1.00	LUMP SUM	\$700.00		\$700.00	0.00	\$0.00	1.00	\$700.00	1.00	\$700.00	100.0%
	SUBTOTAL					\$1,900.00		\$0.00	J .	\$1,300.00	J .	\$1,300.00	68.4%
	10253-86-130												
	- PERMANENT TRENCH PATCH TYPE III	48.00	T.F.	\$48.00		\$2,304.00	0.00	\$0.00	28.00	\$1,344.00	28.00	\$1,344.00	58.3%
	CHANGE ORDER #1 TOTAL					\$6,934.00		\$0.00	: :	\$5,374.00	<b>:</b> :	\$5,374.00	77.5%
CHANG	E ORDER #2, ACCT NO. 10253-84-174												
	- TAP AND COLLAR AT BULK HEAD WALL FOR S-21, S-23, S-25 AND S-27	4.00	EACH	\$2,000.00		\$8,000.00	0.00	\$0.00	4.00	\$8,000.00	4.00	\$8,000.00	100.0%
GRAND	TOTALS (CONTRACT TOTALS PLUS CHANG	SE ORDERS)			\$2,245,781.05			\$291,254.93		\$1,368,077.00		\$1,659,331.93	73.9%